[ Efficiency vs vertpos |
- 0.2

CTIRT: SR S— T —

2 E : : :
O e AR AR
[5) 3 : : :
SR I SERTRRRN FRR o e

o o : :
R e ﬂ --------- P

0.1

0.08f -+ [RRRRERIEE + """""" s
E |+ L U ------------

0.0Bf-++seeeieerpenes
0.04f
0.02

1.0

Ratio

=
L = = e
e
*ry

+ T

0.95 :
1072 107 1

10 0?
TP vertr (cr%)

MKEIL_TToriginal
mkFit_TT pL
mkFit_TT_pLW
mkFit TT pLW_1H

<4

DQ
DQ
Efficiend —— B3

~ 0.1
20.09
n
>0.08
>
2
90'07
3]
£ 0.06
(]
0.05]
0.04
0.03
0.02
0.01

................................

[y

=30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 0.1
>
a 0.09
IS
7 0.08
£0.07
2y
c0.06
[}
o
£0.05 - : : - : : :
9} : : : : : :
0.04F--++erfrfenseedinnenbon b

00 |
E ; : LT :
0.02E - 71k :“*ﬂ&f%‘*%'@#“ :
0.00F ke[ oo g
o +#f T TITE
< r : : : : :
@ L

I
A

1 r e

S B

+1:

051510 -5 0 5 10 15 20

Sim. PV z (cm)




	Contents
	Page 1


